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AOB is a diameter of the circle.

COD is a sector within the circle forming 
an angle of 37° at the centre.

What is the area of the circle outside the 
sector?
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What is the length of the line, CABD 
going around the edge of the circle?

What is the length of the line, CAOBD, 
going around the edge of the circle and then 
cutting across the diameter?

(19,4)

(-12,1)

12

2

-4/3

(20,-1)

(-16,-3/2)

DO NOT SCALE

The diameter shown is not 
necessarily perpendicular to 
either linear function shown.
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